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PERIODIC TEST-1 (2025-26) 

MATHEMATICS (041) QUESTION PAPER 

Class: IV           Time: 1hr  

Date: 02.07.2025          Max Marks: 25 

Admission no:          Roll no: 

 

General Instructions: 

General Instructions: 

Questions 1 to 5 are 1 mark each. 

Questions 6 to 9 are of 2 marks each. 

Questions 10 and 13 are of 3 marks each. 

SECTION-A                                  (5 × 1 = 5) 

Choose the correct answer. 

1) Write the number 1000 more than 46900 

a) 4,790 b) 4,79,000       c) 47,900       d) None of these 

2) 421 rounded to nearest ten is  

a) 420 b) 400        c) 410  d) None of these 

3) The face value of 9 in 92,364 is  

a) 9000        b) 9              c) 90,000  d) None of these 

4) Which is the greatest six-digit number? 

a) 1,00,000 b) 9,00,000          c) 9,99,999 d) 9,09,090 

5) 0 + 85,267 = _________ 

a) 0 b) 85,267           c) 8,52,670 d) None of these 

 

SECTION- B                                 (4 × 2 = 8) 

6) Write the greatest and smallest six-digit number using digits. 

1,  7,  0,  4,  9 , 3 
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7) What is the successor and predecessor of 93,612? 

8) Write the following addition in Roman numerals.  

a) 132+75    b) 25+ 40 

9) Find the sum of smallest 5-digit number and greatest 4-digit number. 

 

SECTION- C                               (4 × 3 = 12) 

10) Put the commas and write the following numerals in words in the Indian 

system.  

a)  749325 

b) 2619203 

11) Write the following numbers in place value chart. 

 

S. No. Number Lakhs Ten Thousand Thousand Hundred Tens Ones 

1. 5,89,123       

2. 9,08,456       

       

12)  Simplify: 28,13,405 + 3,68,512 

13) If 8,310 children, 12,505 women and 13,790 men came to watch the cricket 

match, how many people came to watch the cricket match altogether? 

 

******************************The End***************************** 

 

 


